
 

 

 
 

Boost up Your Certification Score 

 
 

 

 

 

 

 

 

For More Information – Visit link below: 

https://www.examsboost.com/ 

                          Product Version  
 Up to Date products, reliable and verified. 
 Questions and Answers in PDF Format. 

College Admission
CLT

Classic Learning Certification Test

Visit us athttps://www.examsboost.com/test/clt/

https://www.examsboost.com/test/clt/


 

Latest Version: 7.0  
 

Verbal Reasoning 

 

Visit us athttps://www.examsboost.com/test/clt/

https://www.examsboost.com/test/clt/


 

Question: 1 
   
Which choice best describes the tone of the passage? 
 
A. Carefully drawing a dark portrait of a selfish, morose man. 
B. Humorously poking fun at a middle-aged man's eccentricities. 
C. Romanticizing the thriftiness of a hard-working laborer. 
D. Admiration of the longsuffering nature of a downtrodden husband. 
 

Answer: B 
 
Explanation: 
The tone of this passage is light-hearted as it describes Mr. Glegg's extreme thriftiness, to the 
point of absurdity. Along with thriftiness, the passage points out Mr. Glez's view of his marriage— 
he is so used to the "leathery" pastry that he considers it the standard for cooking, and has come to 
expect frequent quarrels as a normal part of life. While his actions may be characterized at times as 
selfish or morose (A), the tone is not dark And while Mr. Glegg is described as thrifty (C), the author 
does not romanticize his efforts. Finally, while he could possibly be considered downtrodden as a 
result of the quarrels and questionable housekeeping, the author writes with satire rather than 
admiration, to provoke laughter rather than sympathy. 

Question: 2 
   
The word "near" in Paragraph I, Sentence 1 most nearly means 
 
A. close by 
B. dear 
C. stingy 
D. upcoming 
 

Answer: C 
 
Explanation: 
The word "near is used to describe Mr. Glegg’s character as a miserly or sting' man. It is not 
the literal meaning of being physically close (A) or being "near and dear" (B), or of being about to 
appear on the scene 

Question: 3 
   
What purpose does the hypothetical situation of the widow in Paragraph 2 serve? 
 
A. To illustrate Mr. Glegg's ruling passion of frugality. 
B. To give a glimpse of the community in which the Gleggs lived. 
C. To show that the Gleggs were well-to-do. 
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D. To show the value of money in the time period in which the book is set. 
 

Answer: A 
 
Explanation: 
The situation of the widow, in which Mr. Glegg expresses "true feeling but is unwilling to 
make a small donation to help, shows that frugality is the ruling virtue of his life. The story does not 
give much insight into the Gleggs' community (B), as it is merely a hypothetical situation. It shows 
that the Gleggs have enough money to help a destitute widow, but does not give a clear picture of 
their monetary worth (C). And while we may gain some insight into the value of money at a time 
when five pounds would settle a widow's small debt, it does not give us an accurate idea of 
monetary value in this time period (D). 

Question: 4 
   
Which of the following selections best illustrates Mr. Glegg's passion for frugality? 
 
A. Paragraph I, Sentence I ("good Mr. Glegg ... lovable skinflint") 
B. Paragraph 2, Sentence 2 ("just as fond ... cheap substitute for blacking") 
C. Paragraph 3, Sentence 2 ("In old-fashioned times ... as a condition') 
D. Paragraph 4, Sentence 2 ("It struck him ... hardness than hers") 
 

Answer: B 
 
Explanation: 
The anecdote in paragraph 2, in which Mr. Glegg not only tries to save his own money but is 
"quite zealous" in helping others live more cheaply, illustrates how passionate he is about frugality. 
Calling him a "lovable skinflint' (A) refers to his frugality but does not illustrate it. The selection 
from paragraph 3 (C) makes a general statement about miserliness but does not give a specific 
illustration of Mr. Glegg's frugality. His admiration for his wife's housekeeping (D) is not directly 
linked to frugality. 

Question: 5 
   
The examples in Paragraph 3 show which of the following views of men like Mr. Glegg? 
 
A. Scorn at the quick and easy way they made their money. 
B. Appreciation for the hard work that led to their wealth. 
C. Disdain for the way they hoarded their fortunes. 
D. Confusion at the variety of personalities that are drawn to be miserly. 
 

Answer: B 
 
Explanation: 
While the author pokes fun at Mr. Glegg for his eccentricities, in paragraph 3 she describes 
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men like him as "industrious" and "marked and exceptional." She points out his lack of generosity in 
paragraph 2, but in this paragraph, she notes the hard work that went into slowly accumulating 
wealth by diligent industry and self-denial. The mention of quickly making money (A) is referring to 
a different set of people. The author does not show disdain (in this paragraph) for the hoarding of 
hard-won fortunes And though she mentions the variety of characters that fall into this 
category, she does not appear to be confused by this (D). 

Question: 6 
   
The term "independence" in Paragraph 3, Sentence 2 refers to 
 
A. political freedom 
B. freedom from dependence on relatives 
C. the state of making one's own decisions 
D. sufficient savings to live on 
 

Answer: D 
 
Explanation: 
Paragraph 3 is referring to those who carefully save to build up a sufficient amount to live 
comfortably, by their various standards. It is not referring to independence in a political or legal 
sense (A), or to being free from dependence on relatives (B), though that would be a natural side 
effect. Nor does it refer to independently making choices for oneself (C). 

Question: 7 
   
What is the effect of using "pinched" instead of merely "saved" in Paragraph 3, Sentence 3? 
 
A. To show the physical suffering required to save money. 
B. To show the miserly attitude that gave pain to others in order to save. 
C. To show that people often stole to be able to save money. 
D. To show that saving money was difficult and required giving up comforts. 
 

Answer: D 
 
Explanation: 
The use of "pinched" illustrates the challenges and self-denial involved in saving money. This 
could possibly have caused physical suffering with some of the sacrifices (A), but that is not the 
intended meaning. Pinched does not refer to pain caused to others by saving (B), though this 
doubtless happened on occasion, as in the hypothetical widows situation in paragraph 2. The term 
"pinched" has been used as slang for "stole" (C), but that is not the intent here. 

Question: 8 
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What can be deduced about Mr. Glegg's character from his opinion of his wife's cooking and cupboard, 
described in Paragraph 4? 
 
A. His stinginess prevents him from appreciating any but the most economical housekeeping. 
B. He has very fastidious tastes, and his wife has learned to cater to them specifically. 
C. He finds comfort in the familiar, even when it would be considered unpleasant by others. 
D. He is intimidated by his wife and has been brainwashed into thinking that everything she does is 
perfect. 
 

Answer: C 
 
Explanation: 
The entire selection shows that Mr. Glegg is a man of habit, whether of saving money or his 
household routine. The passage points out that although Mrs. Glegg's cooking is less than excellent 
(leathery pastry and hard damson cheese), Mr. Glegg prefers it to any other because he has grown 
accustomed to it. The passage does not state whether Mrs. Glegg's housekeeping is economical (A), 
nor does it give any indication that his wife tailors her cooking and housekeeping to Mr. Gleggs 
tastes (B). Finally, there is no evidence from this passage that Mr. Glegg has been brainwashed into 
thinking that his wife's housekeeping is perfect (D). 

Question: 9 
   
Mr. Glegg Harpagon :: 
 
A. saving : hoarding 
B. generosity : stinginess 
C. adventure : security 
D. training : relaxation 
 

Answer: A 
 
Explanation: 
In the passage, Mr. Glegg is compared with industrious men of a former generation, 
characterized by the name Harpagon. These men are described in the third paragraph as having an 
"inalienable habit of saving" depicting a miserly obsession with money. Mr. Glegg is described as 
very interested in saving money for himself or for others and is much more moderate with saving, 
making an apt comparison between saving and hoarding. 

Question: 10 
   
Mrs. Glegg's house : disorder 
 
A. pig: mud 
B. painter : creativity 
C. flower: aroma 
D. library: noise 
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Answer: D 
 
Explanation: 
In the passage, Mrs. Glegg is described as being extremely accomplished at cooking and 
keeping her house in order. The passage provides several examples of how excellent her work is. 
Mrs. Gleggs house is to disorder as a library is to noise. 

Question: 11 
   
The diagram shows two lines, I and m, with line n, a transversal, crossing them. Which of the following 
additional pieces of information would allow you to deduce that lines l and m are parallel to each other? 

 

 
 
A. Option A 
B. Option B 
C. Option C 
D. Option D 
 

Answer: B 
 
Explanation:  

 

Question: 12 
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A. Option A 
B. Option B 
C. Option C 
D. Option D 
 

Answer: D 
 
Explanation:  

 

Question: 13 
   
A round table has six chairs, labeled H—M. If the chairs were set in a straight line in the same order that 
they have around the table, chair H would be on one end and chair K on the other. Chair J would be 
between chairs H and I, chair L would be between posts I and M, and chair M would be between chairs L 
and K. Which of these statements is (are) necessarily true? 
I) The distance between chairs H and L is greater than the distance between chairs I and M. 
II) Chair I is between chairs J and L. 
III) The distance between chairs M and K is less than the distance between chairs H and L 
 
A. I, II, and III 
B. I and III 
C. II only 
D. None of these is necessarily true 
 

Answer: C 
 
Explanation:  
The problem does not give any information about the size of the table or the spacing 
between any of the chairs. Nevertheless, creating a simple illustration that shows the order of the 
chairs will help when approaching this problem. The line below shows the row of chairs and 
possible positions based on the parameters. 

Statements I and III seem to be true from the drawing but since we are not given any information 
about the spacing between chairs, we cannot say definitively that H and L are farther apart than I 
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and M, or that M and K are closer together than H and L. However, we do know that chair I is 
between chairs J and L, so the only statement that is necessarily true is statement II. 

Question: 14 
   
The diagram shows a circle with center C and with points A, B, P, and Q lying on the circle. Which of the 
following statements is true? 

 

 
 
A. Option A 
B. Option B 
C. Option C 
D. Option D 
 

Answer: B 
 
Explanation:  

 

Question: 15 
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As the treaty requires we shall also engage in the fullest possible exchange of equipment, and materials, 
and scientific and technological information for the peaceful uses of nuclear energy. 
 
A. NO CHANGE 
B. As the treaty requires we shall also engage in the fullest possible exchange of: equipment, and 
materials, and scientific and technological information for the peaceful uses of nuclear energy'. 
C. As the treaty requires, we shall also engage in the fullest possible exchange of equipment, and 
materials, and scientific and technological information for the peaceful uses of nuclear energy'. 
D. As the treaty requires, we shall also engage in the fullest possible exchange of: equipment and 
materials, and scientific and technological information for the peaceful uses of nuclear energy'. 
 

Answer: C 
 
Explanation: 
Choice C provides the best phrasing and use of punctuation. Firstly, there needs to be a 
comma after "as the treaty requires" to set off the introductory phrase. 
Secondly, the list of equipment. materials, and scientific and technological information needs to be 
handled appropriately. There are more than one way to organize this list in a grammatically 
accurate way, but the meaning changes slightly, depending on the organization of ideas. 
Either of the following are appropriate: 
Compound lists: 
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